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QUESTION 1

Which of the following statements regarding SGW selection by the MME is FALSE? 

A. SGW selection can occur during initial attach, tracking area update, or handover procedures 

B. MME can select an SGW by performing a DNS query on a given TAI FQDN 

C. MME can select an SGW based on the overload control information received from each SGW in the SGW pool 

D. MME can select an SGW from the SGW pool(s) configured to serve the given TAI 

Correct Answer: C 

 

QUESTION 2

Which of the following statements regarding the role of the MME in the packet core is FALSE? 

A. MME manages registration, authentication, and mobility for the UE. 

B. MME handles setup and management of UE connections to data and voice over LTE. 

C. MME routes and forwards user data packets received from eNodeB. 

D. MME selects the appropriate SGW and PGW during a UE relocation. 

Correct Answer: C 

Reference: https://en.wikipedia.org/wiki/System_Architecture_Evolution 

 

QUESTION 3

Which of the following is NOT an EPS session management (ESM) function performed by MME? 

A. Support default bearer creation, modification, and deletion 

B. Support dedicated bearer creation, modification, and deletion 

C. Inform other network elements about subscription data changes in HSS 

D. Perform network element selection 

Correct Answer: A 

 

QUESTION 4

In this exhibit, a new SCTP profile is configured on the MME. 

Which interface(s) in the given exhibit can be associated with this profile? 
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# cmm sctpProfile create –name sctp-profile –rtoMin 100 –rtoMax 500 

A. S1-MME only 

B. S11 only 

C. Both S1-MME and S6a 

D. Both S11 and S6a 

Correct Answer: C 

 

 

QUESTION 5

Given the exhibit, which type of message is sent from the MME to the lawful enforcement monitoring facility (LEMF) for
lawful interception support? 
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A. Intercept request message 

B. Location request message 

C. Content of communication (CC) message 

D. Intercept related information (IRI) message 

Correct Answer: C 
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